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miE (m2)

1 KR /MR INFEAR 10,000 THEIHEER
2 7YY SINES YNE 10,000 MEER
3 &5 15 i L35 8,000 THEHER
4 TG TG 5,000 KfE

5 MRSk G359k 5000 TEER
6 AN E YNE 3000 THEMRR
7 mREEIG ErEi5 3000 THEMRR
8 BAE N E 3000 TEHER
9 C/AE N E 3000 HFFEHEER
10 BkiZETEI5 EIE15 3,000 K

11 BERN R e BT B 15 EIEi5 2,000 TEHER
12 DA NE 1,000 THEHER
13 EAE NE 1,000 THEHER
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MRt 4 0I5 B MEBAE-HEN

Atk &1t ANEFH, HSARLT BR300t H
B =%t MnE4a R 450t B
CHERE=%t PINEFE, HSRT, #hS0Y R 90t H
DI #& PNEFE, NIRRT BERE: 400t B
ERFEHKE# PNEFE, HFTRLT R4t H
X =5tF R<EY BR300t H
GHEZ AR<F BER: 30t H
H¥k X =t R<E MR 132t/ H
I ZE R<EY R 360t H

PRA 5% T, Bl BEBR. BE7 )L

A, BITT. T RCT . flkE
JIEHK#A=# <9, BEYHERE. LT . & $EH]1: 95t H
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—IREEY RN 5—

BT REEY EARBEZ(M3) ERZB=(M3)
VT EZ%—J I RENRBE - TR H 200,000 50,000
N . BT M
wi (Wi RERYRRIL 60,000 10,000
515
Xth X% RN EE 15 TN E Py 50,000 3,000
YT YR A5 15 RENR A 400,000 150,000
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miE (m2)
1 AT 5Bt T i5Ehith 100,000 K&
2 Ii5biulN N E 100,000 MEHER
3 mR[L5 L35 80,000) TEIEER
4 BIi5hith TG 50,000 KfE
5 MRSk G359k 50,000 THEMEER
6 Ef AN E| N E 30,000 THEHER
7 mREEIG EIE15 30,000] THEER
8 mENE N E 30,0000 TEER
9 | SR=R/NES NE 30,000 FFEEER
10 EREEIE5 ETE 15 30,000 KM




